%
gy

Signatmj‘e and Name of Invigilator

1. (Signature)
(Name) ....vveeeen e e et e e e e e eneearrernrran

(Si.gnatﬁre)
(Name)

Time : 1% hours]

2.

Paper Code : 05
ECONOMICS [PAPER-II]

OMR Sheet No.
(To be filled by the Candidate)

RoliNo] | [ T T T T T T]

(To figures as per admission card)

(In Words)
" [Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll mumber in the space provided on the
top of this page.

2. This paper consists of fifty multiple-choice type of
questions.

3. Atthe commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) Tally the number of pages and number of questions ‘

in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicated or not in seriaf order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
-invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be

.. Teplaced nor any extra time will be given,
(i) After this verification is over, the OMR Sheet

Number should be enteried on this Test Booklet.

Each item has four alternative responses marked (A),
" (B), (C) and (D). You have to darken the oval as
indicated below on the correct response against each jtem,

Bamie: (D @ @

where (C) is the correct response.
Youf response to the items are to be indicated in the
Aunswer SKeet given inside the Paper I Booklet only.
If you mafk at any place®ther than in the ovals in the
Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet,
If you write your Name. Roll Number, Phone
Number or put any mark on any part of the Answer
Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, or use
abusive tangnage or employ any other unfair means.
you will render yourself liable to disqualification,
You have to return the test question booklet and OMR
Answer sheet to the invigilators at the end of the
examination compulsorily and must not carry it with
you outside the Examination Hall.

- Students can take home carbon copy of their OMR
Answer sheet.

- 'Use only Blue/Black Ball point pen.

- Use of any calculator or log table ctc., is prohibited.

. There is no negative marks for incorrect answers.

bl

~

11.
12,

s

3.

wlgntyar % fer Frier

S T8 F FW P TH T T e fafwd )

T W79 v Sg ety v ¥

R YR B W, - sreeR 3 Wi ve

ore e S W Ser e ahe! frfatEn

‘aﬁ%m&ﬂag,maﬁﬁam»me;m%:

(D ¢ I= W o FROER T0-TH % 7% q
Maﬁ@ﬁaﬁm%ﬁ?ﬁﬁégi‘l
Q! i Tl yoa/wed o0 B W g s B
= wiftae & 1 & sl fedl o gER @ ghogd
i1 SRR T T 9o S5 T S e sa
T R e T yw- gieaen o o | 9% T g
o9 e i SR 3 9 @ ey
YR ST o e it # s st s
i icu |

(i) 79 <9 % 9% OMR 3% 1 %0 T 39 T
e W sifed S

S BT ¥ R AR I fase (A), (B), (C) 3 (D)

T8 12 €1 2o Wet S 5 edae R s e

T & G o R

S @® O
wEfE (C) T8 I §)

W & T e T O | % ey B T sRe-w
W s w0 ¥ 1 AR o g o W R T e
¥ ST Rl 31 R TSR PR #E £, 9 5o
YeAiE Tl g

e i ma ol =1y w%né; .
== 4 (Rough Work) 38 IRem 3 a1fm g w i)
aAfg Y I-Thaw W Frag R
et oo, W TR st A P o) s Teae
ﬂ@,mm%awawwammim
W S SR W W ¥, & v R
AT iy 6 = T ¥

HTH T FAG E W RA-GREH G OMR S~
T Tt wEIeT ) eter s ¥ ot wde gy
% 91 I8 9 Wy e o Y WE 7 S o |

- Wl Tt W s OMR 3R T 1 @l w
T Y W W G B
et O/ et AT 4N T 6 s |

31l Fr wERT wita ¥
I S o oy g aten s T wmin

ﬁﬁﬁmmmcﬁm@a)wméﬁav




o

PAPER CODE : 05

PAPER-I1

ECONOMICS

Note : This paper contains Fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.
dE ;T T A uE (50 ) Tg-Tamedta w € ) e T H ey ( 2) o el we pem

1.

Which of the following is a
microeconomics statement ?

GV

®)

©

)

the real domestic output increased
by 2.5 percent last year.
Unemployment was 9.8 percent of
the labour force last year.

The price of wheat declined last

year.
The general price level increased
by 4 percent last year,

In order to maximize his total utility, the
consumer chooses that consumption
bundle of goods (having different prices)
which—

{A)

®)

©

)

Maximizes the marginal utilities per
Rupee of each good.

Maximizes the marginal utilities of
each good

Equates the marginal utilities per
Rupee of each good

Equates the marginal utilities per
unit (physical unit) of each good.
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“When the price of a product rises, con-
sumers shift their purchases to other
products whose prices are not relatively
lower.” This statement describes :

(A) Aninferior geod

(B) Therationeing function of prices
(C) The substitution effect

(D) Theincome effect

TfA, B, C, and D are any four market
baskets, and if the consumer has ranked
them so that D is preferred to C, Ais not
preferred to B, and B is not preferred to
C, then—

(A) Alspreferredto C.

(B) AdispreferredtoD.

{C) BispreferredtoD.

(D) Dispreferredto A.

In Cobb-Douglas production function
Y=AK?L?, exponent of labour, b mea-
sures—

{A) Labour share in total profit

(B) Labour share in total employmerit
(C) Labour share in total output

(D) Labour sharein GDP

When does the labour supply curve bend '

backwards—
(A) Substitution effectis negative

®) hlcomeeﬂ'ectdonﬁnaﬁsubsﬁnnion
effect .

(C) Substitution effect outweighs
income effect

(D) Norie of the above
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An allocation of resources is Pareto ef-
ficient when, with the reallocation of ex-
isting resources—

{A) Someindividuals can be made
better off without making some
one worse off’

(B) Noindividual can be made
better off without making some

- one else worse off

(C) Everyone can be made better off

without making anyone worse off

(D) Allofthe above

Suppose, Indian economy is in the grip

of arecession and unemployment rate is

more than the natural (normally observed

{rends). Which of the following would

be an appropriate fiscal policy to help

solve this problem ?

(A) Increase government spending on
public works programme

(B) - Raise personal income tax rates

(C) Increase the money supply to

lower interest rates

(D) Payoffthe National Debt -

An expansionary monetary policy will

cause—

(A) Oufput to rise immediately, but the
interest rate will rise slowly over
time.

(B) Theinterestrate to fall
immediately, but output will rise
slowly over time. ‘

. (C) Theinterestrateof fall immediately
and output to rise immediately

(D) The interest rate to fall slowly over
a two year period and output to
rise slowly over time
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10.

1l

12.

‘Crowding out’ relates to—
(A) Increase in interest rate dueto
~ increase in money supply by
central bank
(B) Displacement of private investment
onaccountofincreasde govemment
bartowings

(C) Tallinexport earning due toap
preciation of the currency

(D) Noneofthese

An increase in the interest rate causes :
(A) Movement along an LM curve.
(B) A movement along an 1S curve.

(C) Investment spending to fall and
real money demand to fall.

(D) Alloftheabove.

‘Whichofthe following macro variable(s)

isfare a determinant of demand for
money, as per Milton Friedman’s theory
of money and prices— :
(A) Expectedinflation

(B) Bondprices

(C) Humanand non-hugnah wealth

(D) Alloftheabove
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13.

15,

Under ‘Liquidity trap, fiscal policy is

comparatively more effective, because——

(A) Theeconomy is operating near full
employment level

‘(B) Thereis deficiency of aggregate

demand in the econamy
(C) Economy is having trade surpluses
(D) All ofthe above

Total money stock in economy is affected
by—

(A) Only endogenous factors

(B) Onlyexogenous factors

(C) BothA&B

‘(D) None ofthe above

Economic growth and economic devel-
opment—

(A) AreSynonymous

(B) Economic growthis qualitative
measure whereas economic

development is a quantitative one

(C) Economic growth s a quantitative

measure while economic
development is a qualitative
measure

(D) Nornie of the above
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16. Viciouscircle of poverty impliesthatthe 16.

economy i8 trapped in low income
equillibrium on account of factors
operating Of—

@™
®)
©
®)

Both demand and supply side
Only on demand side
Only on supply side

None ofthe above

17. What is an empirically validated finding 17.

related tothe classical theories of devel-
opment economics ?

@A) A constant relation between
capital and output (also called

ICOR)

More saving and investmentisa
necessary condition for growth

®)

(C) Surphus rurel labor

o Rejection of market forces and
trade boosts growth.

18. Whichofthe following is TRUE of the

prediction on the investment-to-growth 18.

fink by Harrod-Domar and Solow mod-
els?

A In both models, capital
accumulation is the main engine of
growth.

Tn both models, there is no link
between capital accumulation and
growth. .

Capital accumulation drives long
term growthin H-D model butnot
in Solowmodel.

B)

©) .

Capital accumulation drives long
term growthin Solow model but
notin HD model.

(D)
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19.

20.

21.

22.

The O-ring theory places emphasis on—

(A) Education ofthe labor force

(B) Skill complementarities

(C) Purchases of hachinery and
equipment by firms

(D) None ofthe above

The new growth theory attempts to ex-

plain—

(A)  Therate of population growth

_ within a country.

(B) Therate of capital accumulation
within a country.

(C) The factors that determine the size
ofthe Solow residual.

(D) Why thereare diminishing returns
to capital

‘The S-curve isused to illustrate—

(A) Thetypical path taken by the
current account over time.

(B) Economic fluetations in the
economy

(C) The typical growth path of 2
developing economy

(D) Theexistence of multiple
equilibria.

Public goods have the following charac-
teristics—
(A) NonRival consumption

(B) Non exé!udability

(C) BothA&B
(D) None of these

P.C.~05-ECONOMICS-I1/600

19.

20.

21.

22.

‘aﬁﬁq’mﬁqﬁﬁmw%e

A) ot =) fren w

(B) A HF Tewal T

(C) v g A9 TF sTmTi ¥ wy
™

D) SR T 4§ FE o 7

e 9fs 1 fagra saren Fwm

@) freht o 3w F oy wwen 9
e W w

B) TRt ot <91 % orwia goit & waw
B R o

(C) =wr= = f& d9iel ¥ oo =1
Frutfia = 1

(D) It =1 = e 7 whawer w9 e
£l

‘S’ AH W AN 1 U F A e

T & — |

(A) =T T ¥ 99T T H

®) sreforaTan ¥ onftF TaR-=gwEl
Eal

(C) fowrasfer stefeeeer & gfg war
Ea)

D) ety wr feafy & gy

e wgel wt fr R
=

(A) 394 H H-gRagh

B) Tr-sroaffm

(©) AwWEBIE&

D) W T {FE o 7

LT.0.




23,

24.

25.

Impact and incidence of tax burden-—

(A) Aresynonyms

(B) Impact of tax burden is the point
at which tax is collected and
incidence oftax burden is the
ultimate resting point

(C) Tmpactaffects producers while
incidence affects consumers

(D) Impactand incidence both affect
consumers only

Which of the following relates to Adam
smith’s cannon of taxation—

(A) Certainty of the tax system

B) Cénvenience

(C) Economy

(D) Aliofthe above

Suppose the government undertakes an
additional expenditure of Rs. 1000
Crores and finances by imposing lump
sum taxes of equal amount, what is
amount of increase in national income—

{A) Zero
(B) 1000 Crores
(C) 2000 Crores

@) 4000 Crores
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26. Shadow prices, which are relevant for 2.

evatuating investment projects, are the

prices—

(A) Which reveal true scarcity value
(opportunity cost) of goods and
factor inputs

(B) Goods not transacted in the
economy

(C) Forgoods smuggled across
borders

(D) Noneofthese

27, Accordingto E. Domar, any leve] of fis-

cal deficitis sustainable, provided— 27,

(A) GDP growth rate is more than real
interest rate

(B) Investmentis growing ata fast rate

(C) Savings are more than investment

(D) Inflation is under control

28. Economic role of the government in-
cludes—

(A) - Allocative 2.

(B) Distributive

(C) Stabilisation ofprices and
: economic activitics

(D)  Allofthese

29. Opportunities for gainful trade occur on
account of—

(A) Differencesin enddwments

(B) Differences in factor productivity
(C) BothA&B

(D) None of these
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30.

31

32.

33.

Comparative cost advantage theory of
international trade was propounded by—
(A) DavidRicardo

B) IB.Clark

' (C) Malthus

(D) JR. Hicks
Depreciation of currency leads to an
improvement in the balance of trade—
(A) Onlywhen the sum of elasticities
of exports and imports is greater
than one
E2) N @nly when the sum of elasticities
< »pf exports and imports is less than
one
(C) Only when the sum of elasticities
. -of exports and imports is equal to
“one
(D) Itisunrelated to elasticity

Capital inflows increases, ceteris pari-
bus, when—

(A) Domestic interest rate falls

(B) Domestic interestrate increases
(C) Domestic income falls

(D) Custom duties increases

Factors responsible for fluctuations in the
export price of primary products of de-
veloping countires are—

(A) Elastic and stable demand and
supply.

Inelastic and stable demand and
supply

Inelastic and unstable demand and
supply

Elastic and unstable demand and
supply

®)
©)

)
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34,

35.

36.

37.

38.

Rationale for protectionist trade policy
includes—

(A) Protection to infant industry from
foreign competition

Raising and sustaining industrial
employment '
BothA&B

None of the above

B)

©
)

Which of the following is notan example
ofan international public good ?

GV
®)

Open markets in a recession
Capital flows to less-developed
countries

Coordination of last resort lending
Exploration for new oil deposits.

©
)
As per 61st Round of NSSO Survey
employment growth rate during 1999-
2000 to 2004-05 has been estimated to
be—

(A 2.6%

(B) 2.8%-

€ 3.0%

D) 32%

‘CENVAT is associated with—
(A) Direct Tax

(B) Income Tax

(C) Indirect Tax

(D) Service Tax

- Which of the following is not a financial

regulator ?
(A) RDA
B) AMFI
(C) PFRDA
(@) SEBI
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39.

40, "

41.

42.

43.

" ®

Asper 13th Finance Commission Rec-
ommendations during 2010-15, transfers
to {he states from the central tax pool
are expected to be—

(A) Rs. 44000 crore

(B) Rs. 164832 crore

(©) Rs.3 18581 crore

@) Rs. 107552 crore

Estimates of National Income in India are
estimated by-—

(A) Department of Commerce

(B) Reserve Bank of India

(C) Central Statistical Organization
(D) ~ Finance Commission

Infant: Mortality rate (per 1000 live
births), as per the latest data availaboe
inIndiais—

@\ 72

® 68

)y 60 -

®) 50

‘Which among the following isnota com-
mitted expenditure of the Government of
India?

(A)
®
©)

Interest payments

Payand allowances

Transfers to States and Union
Territories '

Loans and advancesto States and
Union Territories ‘

)

The finite population multiplier does not
have to be used when the sampling frac-
tionis—

(A) Greater than 0.05

Less than 0.50

Greater than 0.50

None of these

©
)
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44.

45.

46.

47,

48,

- (B)

3

Which of the following is a methiéd of
‘selecting samples from a population ?

@)
(B)
(©)
®)

Judgement sampling
Probability sampling
Random sampling
Allofthese

Wh can use the normal distribution to
represent the sampling distribution ofthe
population when—

(A) The sample size is more than 10
The sample size is more than 5
The sample size is less than 50

None of these

©
®)

Which of the following is the first step in
calculating the median of a data set ?
(A)  Average the middle two values of
the data set

Array the data

Determine the relative weights of
the data

None of these

®)
©

D)

Inthe equation Y=A+BX +e, the e
represents—

GV
®)
©

X-intercept of the observed data
Value of Y for determining best fit
Random disturbances for the
population regression line.

(D) Incremental values

To measure change in total money
worth, one should calculate—

&)
®)
©

A price index

A value index

A quantity index
None ~f these
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49.

50.

Alistof probabilities of outcomes that
could result if anexperiment is performed
iscalleda—

(A) Posterior probability table

(B) Probability distribution

(C) Expected table

(D) Opportunity loss distribution

A major auto manufacturer has had to
recall several models from its 1990 line
due to quality control problems that were
not discovered with their random final
inspection procedures. This is an ex-
ample of—

(A) Typelerror

(B) TypeHerror

(C) Both Typeland Type M error
(D) Neither type of error
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